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""WALT: read and understand himelables ‘H’H@J I i
ORDER.
Yc i TEPHOENIX ™ - ¢
A pAe
| slar: AS
A ) pAe
* LOOI( COFeJTU”H Gl‘ Hw hme lable below JTOF Hme bUSGS HIOI‘ run oround HOgWer’S. *
PAg pAe
DA Slalion Slop Bus A Bus B Bus C DAd
PAg pAe
2 Herbology 06:00 06:00 06:00 o
Phg Umbridge's Office 07:00 07:00 - PAY
v Boy's Dormitory 0800 i 0800 x
Y Clock Tower 09:00 09:00 09.00 pie
* Owl 10:05 1005 i *
* wery . . *
e Stone Circle 11.00 11.00 1100 i
PAg T PAe
o Hagrid's Hut 12:00 - 12:00 %
PAY Great Hall |:OOPm |:00pm |:OOPm PAY
v Bool House 200pm 200pm 200pm i
PAg Viaduct 3:00Pm - - PAY
v Shane Bridge £00pm £00pm 400pm i
e Answer the queshons below us‘mg the informahon from the limelable. *
PAg pAe
PAg pAe
i\zl) How long does it take Lo get from Herbolo% Lo Stone Circle on bus AP H kakes 5 hours. DA
PAg pAe
iZ) How long does it take lo gel from Hagrid's Hut to Slone Bridge on bus C? I} lakes 4 hours. i
PAg pAe
§3) How long will you be on the bus if you 9ol on af Herbolo% and 9ol off the bus al Slone Bridge on bus B? You i
Yewill be on the bus for 10 hours. pAe
PAg pAe
ilr) Ho,rrH gets on bus A at Hagrid's Hul and 9ets off the bus al the Boal House. How long is he on the bus J:or? He i
iis on the bus forz hours. i
PAg pAe
7¢5) If Ho,rrlj is of the BOH‘S Dormitor\Lj. He needs o 9el to the Boal House, which bus should he take? He should fake v+
A pAe
3g7eiH1er bus A or bus C. S
A pAe
ié) Ron needs to get off the bus al the OwlerH. Whﬂ should he not ge} bus C? He shouldn't 9ek bus C because it i
*doesn '} slop of the Owleruj. g
PAg pAe
PAg pAe
%7) How many buses stop at the Viaducl? | bus stops o} the Viaduct e
PAg pAe
PAg pAe
PAg pAe
PAg pAe
PAg pAe
PAg pAe
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I_OOI( CCFGJ.'U”H Gl‘ H'le hme [able below J.'OF H'le buses HIGI‘ run oround HOgWer’S.

T PHOENDX ™

Slalion Slop Bus A Bus B Bus C
Herbology 06:00 06:00 06:00
Umbridge's Office 0630 0630 06:30
Boy’s Darmifory 07.00 - 0700
Clock Tower 0730 0730 -
Owlery 0745 0745 0745
Stone Circle 08.00 08.00 08.00
Hagrid's Hut 0830 - 0830
Great Hall 09:00 09:00 -
Boat House 09:30 09:30 0430
Viaduct 09:45 - -
Slone Bridge 10:00 10:00 10:00

*will be an H’Le IZ)US fOI" [I- hOUFS.

X%X(%jX%X%X%X% Yo Yo Xp X Xp Xp X NP N N Ne X Xp Np X Xp N N X X 0 N X Xp N X Xp N X X R X X X N X ¢

iS) IJ: HOFFH is Gt H’»e BOH‘S Dormitorg. He neecls ITO 96[7 ITO H’»e BOCI} HOUSG, which bUS should he take? He should }ake

v
*GLH‘LGF IDUS A or IDUS C

Ag
3,%6) Ron needs ITO 9et Off Hw bU,S Gk H’Le ClOCI( TOWGF. Whﬂ should he nol gel l)U,S CP He shou[dn‘t get bU,S C because

ilk doesn‘l S[TOP Olf Hw ClOCI( TOWCI".

e

§7) HOW mo,ng buses SITOP Olf H’»e Viaduct? | l)U,S StOPS Ot H’»e ViOdUCL

R

Answer the queshons below us‘mg the informahon from the limelable.

I) HOW long (1065 ilf bke ITO get from Herbo[o% ITO Stone Circle on L’)US AP ]} ko,kes 2 |"LOU,FS.

2) How long does ik take Lo get from Hagrid)s Hul Lo Stone Bridge on bus C? H kakes | hour 30 minukes.

3) HOW [ong Wl” HOU, be on H’Le IZ)US if HOU, 90[7 on Gt Herbolo% o,nd 90[7 Off H’Le IZ)US Ollf Slone Bridge an bU,S BP YOU

4) HOFI"H neecls ITO 96t tO Ho,gricl's HUIT J,'Of‘ 830 What l)U,S will he need ITO geP He should Lake eiHmer l)U,S A or bU,S

A
Yr
A
Yr
A
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I_OOI( CGFGJ.'U”H Ql‘ Hw hme [able below J.'OF Hw buses HIQI‘ run around Hogwarls.

Slalion Slop Bus A Bus B Bus C
Herbology 06:17 08:30 10:35
Umbridge's Office 0658 08:42 10:41
Boy’s Darmifory 070l - 11.02
Clock Tower 0733 09:29 115
Owlery 0736 09:32 -
Stone Circle 0748 09:37 II:34
Hagrid's Hut 0757 - 154
Great Hall 0819 014 2:16
Boat House 0833 10:29 -
Viaduct 085l - 12:34
Slone Bridge 08:59 10:57 [2:54
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7¢2) How lon

X%

*3) HOW long Wl” HOU, be on H’Le IZ)US if HOU, 90[7 on Gt Herbolo% o,nd 90[7 Off H’Le IZ)US Ollf Slone Bridge an bU,S BP YOU

PAg
PAg

PAg
*4) HGFI’H neecls ITO 96t tO Hagrid's HUIT J,'Of‘ 830 What l)U,S will he need ITO getp HarrH Wi” need tO get II)US A
PAg

iS) IJ: HarrH is ak H’»e BOH’S DormitorH. He neecls Lo 9et Lo H’»e Boat House, which bus should he lake? Harrg wiu

Answer the queshons below us‘mg the informahon from the limelable.

will be on the bus for 2 hours 27 minules.

need lo lake bus A

Ag
ié) ROH needs ITO 86[7 OJTJ: Hw bU,S O,IT Hw OW[CFH. Whﬂ should he not 86[7 bU,S CP He shou[dnlk get bUS C bGCGUSC ilf
%doesn)l SITOP O,k H’LG OW[GFH.

i

§7) HOW mo,ng buses SITOP Olf H’»e V'lCld,uCLP 2 l)U,SGS SITOP Qt H’»e ViOdUCL

i

*8) Ron ho,s missed Bus A and needs ko be o,l Hagridls Hut J:or Oq:30. Whol bus wi“ he need ko get now.P Ron wi“

YA
Yrneed lo 9e£ bus C.

i

iHow late will Ron be geHing bo Hagrid)s Hul? He will be 2 hours 24 minules lale.

pis

g does ik take Lo get from Hagrid)s Hul Lo Stone Bridge on bus C? H kakes | hour.

I) HOW long cloes ilf kake ITO get from Herbo[o% ITO Stone Circle on L’)US AP ]} to,kes | hour 3' mmukes.
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